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QUESTION 1

Click the Exhibit button. 

Which statement explains the current state value of the command output shown in the exhibit? 

A. A valid response was received from a domain PC probe, and the user is a valid domain user programmed in the
PFE. 

B. An invalid response was received from a domain PC probe, and the user is an invalid domain user. 

C. A probe event generated an entry in the authentication table, but no probe response has been received from the
domain PC. 

D. The user-to-address mapping was successfully read from the domain controller event logs, and an entry was added
to the authentication table witch currently resides on the Routing Engine. 

Correct Answer: A 

 

QUESTION 2

Click the Exhibit button. 
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Security Director is reporting the events shown in the exhibit. 

If the fallback parameter is set to pass traffic, what would cause the events? 

A. The files are too large for the antivirus engine to process. 

B. The files are not scanned because they were permitted by a security policy. 

C. The files are not scanned because they are the wrong file format. 

D. The antivirus engine is unable to re-encrypt the files. 

Correct Answer: A 

 

QUESTION 3

Using content filtering on an SRX Series device, which three types of HTTP content are able to be blocked? (Choose
three.) 

A. PDF files 

B. ZIP files 

C. Java applets 

D. Active X 

E. Flash 

Correct Answer: BCD 

 

QUESTION 4

You are using IDP on your SRX Series device and are asked to ensure that the SRX Series device has the latest IDP
database, as well as the latest application signature database. 

In this scenario, which statement is true? 

A. The application signature database cannot be updated on a device with the IDP database installed. 

B. You must download each database separately. 

C. The IDP database includes the latest application signature database. 

D. You must download the application signature database before installing the IDP database. 

Correct Answer: C 

 

QUESTION 5

What is a function of UTM? 
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A. AppFW 

B. IPsec 

C. content filtering 

D. bridge mode 

Correct Answer: C 
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